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havoc#show tcp

Stand-alone TCP connection to host 10.1.1.1

Connection state is ESTAB, I/O status: 1, unread input bytes: 0

Local host: 30.1.1.1, Local port: 11044

Foreign host: 10.1.1.1, Foreign port: 2065

Enqueued packets for retransmit: 0, input: 0 mis-ordered: 0 (0 bytes)

TCP driver queue size 0, flow controlled FALSE

Event Timers (current time is O0xA18A78):

Timer Starts Wakeups Next
Retrans 3 0 0x0
TimeWait 0 0 0x0
AckHold 0 0 0x0
Sendwnd 0 0 0x0
KeepAlive 0 0 0x0
GiveUp 2 0 0x0
PmtuAger 0 0 0x0
DeadWait 0 0 0x0
iss: 3215333571 snduna: 3215334045 sndnxt: 3215334045 sndwnd: 20007
irs: 3541505479 rcvnxt: 3541505480 rcvwnd: 20480 delrcvwnd: 0

SRTT: 99 ms, RTTO: 1539 ms, RTV: 1440 ms, KRTT: 0 ms
minRTT: 24 ms, maxRTT: 300 ms, ACK hold: 200 ms
Flags: higher precedence, retransmission timeout
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Datagrams (max data segment is 536 bytes):
Rcvd: 30 (out of order: 0), with data: 0, total data bytes: 0
Sent: 4 (retransmit: 0, fastretransmit: 0), with data: 2, total data bytes: 473

O| ZAl= TCP M| ZE J 3tLt7} 20650|22 DLSw TCP MM 2 AlMEEL|Ct £3d 5t O
Z|cH Clo[H MOIHE= 536HPO| ILICk. ol Zt2 10.1.1.12] 473 DLSw II|0 EP—rE-IOﬂ ip tcp
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MTUE 1500H+0|E°'I—II:LMTUE 15008 O|E0{lAM 40HIO|E 2| IP HEE #H 1460H} 0| EQLIC}
DLSwE CHE 16HIO|EE AFSEHLICHINEIM LLC2 EE = SDLCO| Z|CH 1444HI0|E =S SHLt
O| TCP ZHe 2 MEE =+ /AU&Lch

havoc#show tcp

Stand-alone TCP connection to host 10.1.1.1

Connection state is ESTAB, I/O status: 1, unread input bytes: 0

Local host: 30.1.1.1, Local port: 11045

Foreign host: 10.1.1.1, Foreign port: 2065

Enqueued packets for retransmit: 0, input: 0 mis-ordered: 0 (0 bytes)

TCP driver queue size 0, flow controlled FALSE

Event Timers (current time is O0xA6DA58) :

Timer Starts Wakeups Next
Retrans 4 0 0x0
TimeWait 0 0 0x0
AckHold 1 0 0x0
Sendwnd 0 0 0x0
KeepAlive 0 0 0x0
GiveUp 3 0 0x0
PmtuAger 0 0 0x0
DeadWait 0 0 0x0
iss: 3423657490 snduna: 3423657976 sndnxt: 3423657976 sndwnd: 19995
irs: 649085675 rcvnxt: 649085688 rcvwnd: 20468 delrcvwnd: 12

SRTT: 124 ms, RTTO: 1405 ms, RTV: 1281 ms, KRTT: 0 ms
minRTT: 24 ms, maxRTT: 300 ms, ACK hold: 200 ms
Flags: higher precedence, retransmission timeout, path mtu capable

Datagrams (max data segment is 1460 bytes):

Rcvd: 5 (out of order: 0), with data: 1, total data bytes: 12
Sent: 6 (retransmit: 0, fastretransmit: 0), with data: 3, total data bytes: 485
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